Pendulum lab 
Investigate the relationship between Period (T, seconds) of a pendulum and the following:

1. Mass of bob – m, kg

2. Length of string l, metres (measure to the middle of the mass/bob)

3. Amplitude A, metres

1. Plot all three graphs for your report. Don’t forget to analyse and print each graph from (0,0).

Comment on the relationship of each of the three graphs.

Use the lab report guide to help you write you FORMAL lab report.

2. The actual accepted formula for a pendulum period is:

T = 2(((l/g) where g = 9.8 Newtons per kilogram (the gravitational field strength) and ( is equal to 3.14.

T = (2(/( g) (l where (2(/( g) = k the proportionality constant.

This gives the formula as T = 2.0(l where 2.0 equals the accepted proportionality constant value. From graphical analysis of part 1 you will have an experimentally determined proportionality constant value (T v. l) that will be about 2.

Find the error percentage in your experiment using the following formula (part 1 only).

Percentage error = 
Experimentally determined value – accepted value)  x 100

Accepted value

Context Rich Task
Memo
Movie: Indie meets Lara 
Re: Scene 47: Bullet train, swing

To:
Science advisor/consultant

From: 
B. Igmoney (movie producer)

cc; 
I, A . Minahurry (movie director)
As the highest paid consultant on this action movie set, we are in need of your advice. In the scene which we will be filming in 2 weeks, Angelina has to swing down from a platform on a rope and rescue Craig from the roof of a moving train. (See diagram)
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The train is moving towards you (out of the paper) at 36 km/h (v=10m/s) How long (time tbefore in seconds) before J reaches the position X must T jump to meet J there and sweep J off the train? Using this information mark a point on the track D metres before position X that AJ can see and will know when to jump!

Give you answer and calculations for tbefore and distance D. Explain you reasoning with using the knowledge gained form you lab. 

What if AJ puts on weight? What if the rope stretches? Explain qualitatively how you will need to adjust tbefore and D.

Thanks for you input, please prepare a report to support our stunt coordinator by Thursday with a diagram and explanation. Comment on all variables (l. m, A , h, d, D and v)
Include in your report and diagrams, data, and graphs that support your conclusion. Please use concise language in your report and explain your recommendations clearly.
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